15)
Solve for b:
A = 
[image: image1.wmf]2

1

bh

(Area of a triangle)

16)
Solve for r:

C = 2πr

(Circumference of a circle)

	2k + 5 = 4k – 3
	

	5 + 2k = 4k – 3 
	

	8 + 2k = 4k 
	

	8 = 2k
	

	4 = k
	

	k = 4
	


17)
Solve for w:
P = 2L + 2W

(Perimeter of a rectangle)

18)
Solve for t:

D = rt


(Linear motion)

19)
Solve for C:
F = 
[image: image2.wmf]5
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C + 32


(Temperature conversions)

20)
Solve for h:
A = bh



(area of a parallelogram)

Fill in with correct justification of properties:
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